QUESTION BANK
SOCIOLOGY

UNIT- VIII & IX
Structural Change & Cultural Change

HeT7—pIVT (Assertion-Reason) (01 Mark)

Answer Options 3¥R fa&eq( (for all questions)

(A) Both A and R are true, and R is the correct explanation of A.

AR R TET g, 3R R, AT T&r car=ar &

(B) Both A and R are true, but R is not the correct explanation of A.

AR TET 8, AT R, A 1 TE car=aT A8 1

(C) Ais true, but R is false.

ATE g, AfFT R ITATEI

(D) A is false, but R is true.

AT g, offhel R TET B

QUESTIONS-

1.

Assertion (hY): dafaafRe aaa & IRa & 3-ﬁ3:€ﬂ?ﬂWUT T Forar fea|

Assertion (A) : Colonial rule promoted industrialization in India .

Reason (FROT): T9feer om&el & Y@, 3meyfier 3eger 3R o5 e sifaat &
QB3N HI|

Reason (R) British rule introduced railways, modern industry and new economic policies.
Assertion (FYT): IR H AGARIOT ST NFHIOT FHT YeTaT IROMA 27|

Assertion (A) : Urbanization in India was direct result of industrialization. .

Reason (FROT): REE R MY el $T geftr @ qed # AR & e
et fohu|

Reason (R) The growth of factories and modern industries created employment opportunities in
urban areas.

Assertion (FYeT): INAfAARIE 9RT A AR FUR Tclelall F 3ceT AHATGR
ST &1 FATT FWXeT 2T

Assertion (A) :The objective of social reform movements in colonial India was to eliminate
social evils.

Reason (FRUT): ST TH Algel T R ARG Bl S FATST FuURH o Sfa 3R
Afrer figaa F erw FT FaT|

Reason (R) Social reformers like Raja Ram Mohan Roy and Jyotirao Phule worked against
caste and gender discrimination.

Assertion (FYeT): TEHATRUT & HEhide IMNeldr (Cultural Mobility) o7 gl g
Assertion (A) : Cultural mobility is made possible through Saskritization.
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10.

Reason (FRVT): Ig o= Sfaal &r 3Td Sfadl &7 92U & 39 3R 379
TS FR I GURSA H1 377AfT S

Reason (R) It allows lower castes to adopt the practices of higher castes and improve their
social status.

Assertion (FUeT): IREIHAAIOT & HRAT HIHATSIh HEAAT ! Agedqol T & el
Assertion (A) :Westernization significantly changed the Indian social institutions.

Reason (FROT): 41 MW FRIETT, hrefait U 3R AT Sl @1 dear |
Reason (R) It Promoted modern education. legal reforms and new life styles.

Assertion (FY): e AU g IeRoT (Secularization) FHTS H dhTd TREHIUT T Feram
&ar gl

Assertion (A) Secularisation promotes rational approach in the society.

Reason (FROT): Tg TGS 31T Toiaifas Siiad & €F & YHT F HF T gl
Reason (R) It reduces the influence of religion in social and political life.

Assertion (F4a7): fafeer ufaafies Afdal wr #RAT F F=ar T Femg s

Assertion (A) British colonial policies had an impact on the Indian agricultural structure.

Reason (FROT): TAR SFGIGEAT JOMell (Permanent Settlement System) o STHIGRT 9T
3R arEvT Hehe @ STeA 3|

Reason (R) The Permanent settlement System gave rise to the Zamindari system and rural
crisis.

Assertion (FYT): HcIRNEOT F HRA H AHITSS ITfdfedr (Social Mobility) &
RN

Assertion (A) Industrialization increased social mobility in India.

Reason (FROT): SHI WRET SANd-3TTRA IGTR—™T F AT AT HAF  3GE
3ol U

Reason (R) It created new economic opportunities apart from traditional caste-based
occupations.

Assertion (FYeT): AEAFT o HRA H FIFd IRART & e I dorar fe2m|
Assertion (A) Urbanisation promoted the disintegration of joint families in India.

Reason (FROT): AN H Yardlel 3R 3MYfAS Ao gomell o qiRaiRer Tehsfedr
FHSN T

Reason (R) Migration to cities and the modern employment system weakened family
solidarity.

Assertion (FUe): HiFd 3N FH 3cleldl o HEpldd IRad # Aereer &)
Assertion (A) Bhakti and Sufi movements contributed to cultural change.

Reason (FRVN): $ogial Fieardl €Mfdfer qursid & gellcr & 3R AAfSS degma &
Jerar fa|

Reason (R) They challenged conservative religious practices and promoted social harmony.
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ggladedid 797 (Multiple-choice Questions) (01 Mark)

1. Which economic process led to the decline of traditional handicrafts during British rule?

fafeer emaer & e TRIRe gEafRied & gdeT &1 FROT HieT &Y 3w ufshar oA
a) Sanskritisation (F¥h 0T

b) De-industrialization (3ieZfieRoT & Ges g

¢) Urbanization (2181 0T)

d) Privatization (TI<fteroT)

2. Which colonial policy had the most significant impact on Indian agriculture?

HRAT S R T AGcdqul THTd STelel drell AHdfafren =i @l dr 24
a) Land Revenue System (34@ TS JOTTelT)

b) Industrial Policy (3w i)

¢) Educational Policy (fererr #ifeY)

d) Transport Development (TRagT faer )

3. What major infrastructural development during colonial rule transformed urbanization in
India?

ufAafes et & SR e 97@ A e & e d 0Rd & AEdeor
HT Seor feam

a) Railways (3e1d)

b) Irrigation System (F&TTS JoTTel)

¢) Cottage Industries (FER 31T

d) Zamindari System (STHIGII JOTTelT)

4.  Which 19th-century reformer is associated with advocating widow remarriage?

199 raTecy & fohe FATS URE o faerar qafdarg v gehrerd i
a) Raja Ram Mohan Roy (XTSTT JTH Alged 1Y)

b) Jyotirao Phule (FcRTE el

¢) Ishwar Chandra Vidyasagar (32aX g facamarR)

d) Swami Vivekananda (FaTHT fdderreic)
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5. Which aspect of Westernization had the most lasting impact on Indian society?

HRAT HATS 9T GIRARIOT T o TARY JH1T fohd Tge] I I8I?
a) Clothing Style (qg=Trar g¥el)

b) Education System (TRI&TT JoTTel)

¢) Food Habits (QTI-9TeT &I 3TGd)

d) Festivals (c318R)

6. Which social reform movement played a crucial role in shaping modern Indian education?

fone |TATISR GUR JTelelel & 3TYfeeh HRART A& & 3R &t H Hgeaqu!
e s

a) Arya Samaj (3T THTS)

b) Self-Respect Movement (FATTHHATT 3TGTeleT)

¢) Brahmo Samaj (SIEH HATS)

d) Vaikom Satyagraha (3%IH HcITIE)

7. Which process describes the adoption of Brahmanical customs by lower castes in India?
AT # Tt Siaal garT sreAvrardr Afd-Rarsit @ 39erel ST 9ishar s &ar gl
ST 82
a) Westernization (ITHTeh0T)
b) Sanskritisation (WUT)
¢) Secularization (HTATIETIROT)
d) Industrialization (3icafieRoT)

8. Which factor contributed most to the decline of Sanskritisation in contemporary India?

FHPTNA AR H FEHIAIOT & Tl H HIQ T8T AN fohdl R T @12
a) Globalization (dRdT0T)

b) Reservation Policy (3TR&T0T =f1fa)

¢) Westernization (TaHTeh0T)

d) Religious Fundamentalism (9Tf&& &ced)

9. Which modern policy reflects the principles of secularization in India?
AR # T 3myfaeh Aifd # eAlRYeTar & feuia aReiad g 82
a) Uniform Civil Code (FHT PR Hfgd)
b) Make in India (Feh 3T 5f3aM)
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10.

¢) Green Revolution (8Rd sifd)
d) Digital India (BfSeer gf3am)

Which key feature differentiates Westernization from Sanskritisation?

qIREHRIOT I HERIAPIOT A 376197 il dTell Yog@ farwar 21 g2
a) Adoption of Caste Practices (STTQ9Td FUT3T I 3TT=ATe)

b) Influence of Brahmanical Traditions (STEHUTATGT TRUTHT ST T )

¢) Influence of Foreign Culture (Tacefr Gﬁ?ﬁ I JHTT)

d) Spread of Religious Orthodoxy (4TfHe Ffearfedr &1 ¥R)

f7739T ST 97 (One word/definite answer questions) (01 Mark)

Which process led to the decline of traditional handicrafts during colonial rule?

i W uftrar & afdfRE o F gl aRaRe g¥afliew & 9ae &1 FRor
T+l

How did industrialization impact rural livelihoods in India?

sitearefiavor a sa # arefior amefasr # F@ ganfaa feam?

Suggest one alternative model of industrialization that could have reduced economic
inequality.

T FAATTAT B FH A & Qv @efaor #1 wF dFfeas Alza o
What major infrastructural development supported urbanization during the British period?

fafeer e & ghuer erediaor &1 gHdT FA T YHE AFEHATCHS faHrE F4
q71?

Which colonial policy had the most significant impact on Indian agriculture?

AR F | TG/ AcaqOT T STelat arelt afaafdes Aify wla @ o

Propose one strategy that could have minimized the negative effects of colonial
industrialization in India.

F U WA ST A oRa # el sitgahietor & aereas
ysmEl F FA F GHdar A

Cultural Change
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7.

10.

Which social reform movement primarily focused on women's education?

FIT AT AT GUR ielele F&T &9 § Afgensit Fr Ram o Ffga ar
Among Sanskritisation, Westernization, and Secularization, which has had the most lasting
impact on Indian society?

T fasor, aitasiator it wdfacdarar & @ frasr aRdT woer W gew v
9T 93T 87

How can Sanskritisation be adapted to promote equality in contemporary India?

HYRAF ARA H FEHIAFIOT F FAAA A q9raT & & v F{ aeqwiaa B
ST | 2

What is a major difference between Westernization and Sanskritisation?

gREHIEHIT IR FEpfawtor & T T wE AT #4782

3fd o7y Seavlg go7 (Very Short answer questions) (02 Marks)

Analyse the impact of British colonial policies on the Indian economy.

fafeer afEafe Aifaat & aRdT 3rdcgaear W gaa &1 ARevoT &)

Evaluate how industrialization changed the structure of Indian society.

HIGIEMHIOT & HRAT FHAST T GGAT B HH TGoll, SHDT Hodehel |

Create a comparative analysis of rural and urban livelihoods in post-independence India.
AT & dlg & HRA H AT 3R AT Jrohfaehr Hr Jerticas FaieT H
Analyse the role of urbanization in shaping modern social identities in India.

AR H YA FHATGS Tgarel & fAdATor 7 agdrator i sfffar &1 feervor #Y|
Evaluate the consequences of colonial urban planning on contemporary Indian cities.

Hafra e A ATl & FHbIell HRAT AU W AT ST HodThel |

Analyse how the 19th-century social reform movements contributed to gender equality in
India.

3eATHdl HE & WA FUR JNalelll o AR & olfdleh FAGN & HF Arerere
fear, sger faeemur |

Evaluate the effectiveness of legal reforms introduced due to social reform movements.

HTATISTh FUR STl & HROT A1) HioleAl URT 1 THIEGMN A T Hodiched H |
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10.

Create a scenario depicting how Sanskritisation affects caste dynamics in rural India.

T URELT TIR W TTEH TPl JAT (R H S IIfRMerdr it yerfad
T &

Analyse the role of Westernization in the transformation of family structures in India.
HRA # ITRae W3 & aRade & gfaeieor $r it &1 fagawor w1
Evaluate the impact of secularization on religious practices in contemporary India.

THGNT AR H aTffieh TU3iT W YATNIIETAT & FH1T T Hodichel |

o’y Fivlg g97 (Short answer questions) (03 Marks)

How did colonial policies shape the process of industrialization in India? Support your
argument with relevant historical examples.

sitafafds sAifaat & sma & sitqahfiaror it ufvrar & F s3rer B ywfs
UATTRAF 30N F AT IH9a aF F T |

What has been the impact of urbanization on traditional social institutions like caste and family
in India? Do you think urbanization has led to more social mobility? Justify your response.

SRa & afa 3k Rar St IRIRF aenfos TEaEit W agdeor &1 F4r 9
9ST? FIAT YR ooraT ¢ & rgdiior a arnfas arfaefieadar & gear f&ar €2 smaa
3 & 3T g

Compare and contrast industrialization during colonial rule and post-independence India. Use
relevant data and sociological perspectives.

ufaafF awer AR FEdaar & 9 F oRa ® e@efEor i gaer w1
yrifaE 321 3R FAEET TeFn w1 swAhT #:X

What was the role of colonial education in bringing structural change in Indian society? Did it
contribute to social reforms or reinforce social divisions?

HRAT FATST # WA IR a7 afadfs fRaw f Far sfaer o4y
FIT 38« TS PURT 7 Aeree B a1 aenfo s st 3k #eea B

How has industrialization influenced the occupational structure of India? What impact has it
had on rural-urban migration patterns?

siteaRieRor & AR A AEIERF T F FE gfaa frar §2 aefior-esd
yary et YT SHST FAT YH1T 912
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10.

How did social reform movements challenge traditional social practices in colonial India?
What were the key factors behind their success or failure?

e sRd & FAToS GUR AT & RIS F@rfas gt 1 &3
Al &2 3T FEAT AT IWHAAT F GHE FROT F4T 2

How relevant is the concept of Sanskritization in contemporary Indian society? Support your
argument with examples.

ayfas AR gaATer A FEpfastor i sEuren Faddt gEfiE § seeten ¥
Y 39N d HT TISC I

How has Westernization influenced Indian education, media, and lifestyle? Suggest ways to
balance modernization with cultural heritage.

afReefieor & s e, Afgar sk shaerdeh w1 @ wanfaa fFar 32
sryfadiaor 3t TeRfas e & T @qe a9T WS F 39 g

Has secularization in India led to a decline in religious beliefs, or has it simply transformed
their expression? Provide sociological perspectives.

FT SR #H gAfAderar o arfiis RQeamt & FA o 8, a1 Faa 3aH sfPafFa
Y ¢l &2 GATSTENT TReHor ¥ 34T &I

How has globalization affected Indian cultural values? Propose a research plan to study this
impact, including the methodology you would use.

edlHtor A ARAT AEFfas FqeAl F FQ venlaa AT 82 3w wera # Iredae
w0 F AT ve iy Ao wrarfad &, fSwe 3 P geufa &1 39l #39,
Ig off afAer &

&E ST g (Long answer questions) (05Marks)

Analyze how colonialism influenced industrialization and urbanization in India. Support your
answer with examples.

IR # afafE e A sitgaiefaor sk aedietor F @ ganfaa R
3ETEXUT & | faeavor &Y

Evaluate the impact of industrialization on traditional occupations and social structures in
India.
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10.

HRA # IRIRSF sgqart 3R afoes axaenst 9w siteaefiaor & wana &
AediwsT

Create a case study showcasing the transformation of a small town into an urban center due to
industrialization.

3le@eliERor F FROT F SR FE & W Fg A IRadT F g I F FH
¥ FAT¢|

Analyze the link between urbanization and the growth of informal sectors in Indian cities.
ARAT et 7 aediaor AR IetvaRE ot #1 gafr & fa waw F1 RAeeor
I

Evaluate how British colonial policies shaped India's economic and social fabric in the 19th
and 20th centuries.

fafeer sitgfafRs AfAAT F 1941 30t 20dt aaredt #F ara & ¥+ v gEeE
AT HT F/ IHHR 2>, §HHT HediawaT F

Analyze the role of social reform movements in challenging caste and gender inequalities in
India.

ara # anfa s fer srmameanat & et & F annfos gur seesr #
siffeT F1 favawor F

Evaluate the process of Sanskritization as a form of social mobility in Indian society.
ARAT AT A FEfos afaefladr F & § & T H FEHaaor (FEpfaaon
1 ufFaT 1 Aeaida #

Create a comparative analysis of Westernization and Sanskritization with real-life examples
from different regions of India.

Ra & RAffiea &9 & aeafa® Sfad & g0 & T IRATIHIT 3R
TEFTAHIOT A JelaArcnF FHET
Analyze the impact of secularization on traditional religious practices and beliefs in India.

AR # IRINE anfdis gamsit i gt o aeifoRaerar & vora &1 fAedwor
Coy

Evaluate how modern education systems have contributed to cultural change in Indian society.

aryfas e yoreh F s wATer # wrepfas aRadsa & @ Qe w7 g,
SHHT Ao HY
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Case Study Based Questions
Case Study 1:

During British rule, India experienced significant structural changes in its economy, politics, and
social framework. The introduction of the railways, modern education, and legal reforms led to
urbanization and industrialization. However, these changes also created social inequalities, as
traditional occupations declined and new class structures emerged.

fSfeer e & e Ra A rdcyaed, Tofa 3R GAfos E@ # Agcaqor
ITACHS TR §UI Iord, Iegfaish e AR Fhp FURT A w3 & qginior
ﬁiaﬂaymﬂan—mgm gielifeh, 34 URad=ll & TGS AT T §¢1, Fifh
IRYR AGarat H g g3 AR AT AT g 39

Questions-

QI:fafewr siEmiidRer ¥ fbd URMRS JaHR DI FaH Al JHA gane (01)

Which tradtional occupation suffered the most due to British industrialization.
Q2:fafeer emas # Y& & = Iz FAT AT° (01)

What was the main purpose of railways during British rule. (01)
Q 3: Mg R 7 fw o &1 3ifdes ™ ggamar?

Which class benefited the most from modern education. (01)
Q 4: fafeer oma w1t | RV H SAAT FT 9L1°

Why did inequality in agriculture increase during British rule. (02)

Case Study 2:

Industrialization in India brought about a shift from joint families to nuclear families, especially in
urban areas. Migration for employment led to weaker kinship ties, while economic independence
among women increased. However, industrialization also led to job insecurities and environmental
concerns.

HRA & JHICINAIOT & HROT HIF IRART F Tohel IRART AT 3R deara @ 14T,
Ay &7 & el &A1 #| VWK & [T gard & HRoT Real # gRAr 318, agi Afgernsit
1 AF FaATaT TG FTety, e@EheRor ¥ el A e 3R wraehy
FAEAV 8 3T €5

Questions-
Ql: YR # T & R {6 IHR & URAIRG gRaad < TA?(01)
What types of family changes were observed in India due to industrialization?
Q2: iR | wesl a3 # Real W) & g9a us12(01)
How did industrialization impact relationship in urban areas?

Q3: 3iErfieRor 7 Al @ e Wd=d & & TeR @ ugaran?(01)

What was the impact of industrialization on women’s financial independence?
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Q4: 3IEIRHRTT & AHRIHS YHTT FT 97(02)

What were the negative consequences of industrialization?

Case Study 3:

The 19th and 20th centuries saw several social reform movements aimed at eradicating caste
discrimination, promoting women’s rights, and abolishing harmful practices like Sati and child
marriage. Leaders like Raja Ram Mohan Roy and Jyotiba Phule played crucial roles in reshaping
Indian society.

198t 3R 2047 AT H H$ WA FUR JHMGlelall o Sfd Hea H oA i,
A3 & RFRT Fr Forar &7 3R T 9277 T9 a1l faarg S @i qamsit #r
FATCT FA AT feom & A fhar| T TH A T IR SAAET Bol S At A
HRAT FATST & YeAferel1or # Hgeaqol s{fAT femms|
Questions-
Q1: =T e &1 I b= fdar?(01)

Who abolished the sati system?
Q2: AIIED FHATS DI WqTUAT fhsd=T P12 (01)

Who founded the satyashodhak sama;j?
Q3: g=9 HAST B IUAT e §g?(01)

When was the Brahma samaj founded?

Q4: AMINTG FUR AT_IeA! BT TI=dT GUTH A T qR= 2A17(02)
What was the relationship between social reform movements and the freedom struggle?

Case Study 4:

Indian society has witnessed different kinds of cultural changes over time. Sanskritisation has led to
the adoption of upper-caste practices by lower castes, whereas Westernization has influenced
lifestyle, clothing, and education. Secularization, on the other hand, has attempted to separate
religion from governance and promote scientific thinking.

AT §AST A AT & "y R geR & @iepfas 9Radd @ v gl
HERTARLOT & HROT =] Sfaal o 3T Sifdal & 993t & 39ean, et
gIRTHEROT o SiaaAdel, a& 3R fRew Fr wenfaa Fam gdfaRderar & 937 & aaa
q 3Tl et 3R dATfAS AT Sl F61dT Sol T I foha|
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Questions:

Ql- ARA H IR0 #H a0 J¥ed AET &4 arelr fofer-aRfa dear sia-4r
412 (01)

Which British-introduced institution contributed the most to urbanization in India?

Q2- ¥R # 3ieareNeor o Afgemsit Fr e Tadaar & Ha genfaa fmar (1)
How did industrialization impact women’s economic independence in India?

Q3- Afgem3it & PRI TR g Fhel U AHATSR FUR 3Melelel S &0 &1(01)
Give one example of a social reform movement that focused on women's rights.

Q4- MR FATST TR HERTARIT R IREHFROT & F811d & Jelell HY1(02)

Compare the impact of Sanskritisation and Westernization on Indian society.
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